Grammar Review
Parts of Speech
I.  You are to use the following “code” to identify the part of speech of the underlined word.

A.  noun
   C.  adjective             E.  pronoun
AC.  conjunction

B.  verb
   D.  adverb               AB. preposition 
AD.  interjection

The employer will fire whoever was responsible for the fire.

      1



            2

The pioneers worked hard to cultivate the hard ground they farmed.
                             
            3                                   4

After turning to the left, we found that the engineers had left their tractor on the left side of the road.


        5
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That is what you can expect when you engage in that sort of behavior.
8                                                                                9
Might does not make right, but it might lead to the right goal.
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If home is where the heart is, who don’t more people stay home when they have a holiday?
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The average fly can always fly away before you can catch it.

                       16                       17

The woman with the head for figures used to head the sales department at the head office.
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II.  Using the same word bank, identify the bold italicized word in each sentence.

21.  Light the oven now.              
27.  Sail up the river.
33.  That looks beautiful
22.  A light rain fell.
28.  Can you top that?
34.  That cat is smart.
23.  A red light flashed.
29.  Lock the top drawer.
35.  We must soon part.
24.  Cars whizzed by
30.  We climbed to the top.            
36.  One part is missing.

25.  Pam went by air.
31.   Shoo! Get out of here!             
37.  I slept, for I was tired.

26.  Look up.                                
32.  I shooed the hen away.             38.  He did it for you.
III.  Still using the same word bank, identify each underlined word in the following sentence:

Because the owl fails to see a truck that is approaching, it marches straight ahead, and the other
     39                                  40                        41                                                  42         43                     44
 animals follow behind it, thinking that it is very brave and that it will protect them from harm.
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